The City Sethool

North Nazimabad Boys Campus
Mathematics

Grade 7
Ms. Hira Asad
. Convert the following into percentages.

a >

4

6
b. =

12
c. —

15

. Express the following as decimals.
a. 99%

b. 300%

. Out of 88 cars in the car parking, 5% had tinted windows. How many cars were without tinted
windows?

1500 pupils had to attend a conference. 6% of the pupils reached late. Find the number of pupils who
reached late.

. The price of a computer set increased from $570 to $620. Calculate the percentage increase in price.






